Physics 10164 - Exam 1D

Partial credit will be given provided you show all work and are
solving parts of the problem correctly. Points will be deducted

if you don’t show your work even if you get the right answer.
indi i i and remember

to include correct units and significant figures.

1. (30 pts) Three charges are arranged in a straight line as
shown below. What is the magnitude and direction of the electric

field at x = 7.0 cm?
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2. (40 pts) A proton is fixed at the origin. A seeemd proton is
initially at rest at a coordinate x = 5.0 nm (5.0 x 10~-9 m).

a) If the swewmd proton is allowed to move freely, what will its
speed be when it reaches an x coordinate x = 25 nm?

b) If the seseed proton is allowed to move freely to infinity,
how much work does the electric force do during this motion?
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3. (40 pts) For the system below, determine the charge and
voltage drop across each capacitor.
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